
Tuesday 5th May 

L.K: Non-unit fractions of quantities 

Non-unit fractions of quantities area different in that they have a numerator that is bigger than ‘1’.  

Using the same methods as unit fractions of quantities, you need to divide the whole number by the 

denominator and then multiply it by the numerator. For example,  

3

5
 of 20 = 

20 ÷ 5 = 4 

4 x 3 = 12 

So our answer would be 12.  

Practice using the following questions: 

1) 
2

5
 of 10 = 

2) 
4

6
 of 24 = 

3) 
3

7
 of 21 = 

4) 
4

9
 of 81 = 

5) 
3

12
 of 24 = 

6) 
4

9
 of 999 = 

7) 
11

13
 of 104 = 

8) 
11

10
 of 100 = 

9) 
21

3
 of 42 = 
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Denominator 
Numerator 

If you want to get feedback/show 

off your work, send it to 

WDV.Year4@oasiswoodview.org  

mailto:WDV.Year4@oasiswoodview.org


Reasoning and Problem Solving 

One Star 

 

Two Star 

 

Three Star 

 



 


